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1. Read the following passage and answer the questions: (20)

“..many men, under the influence of science or of practical affairs, are inclined to doubt whether
philosophy is anything better than innocent but useless trifling, hair-splitting distinctions, and
controversies on matters concerning which knowledge is impossible .This view of philosophy appears
to result, partly from a wrong conception of the ends of life, partly from a wrong conception of the kind
of goods which philosophy strives to achieve. Physical science, through the medium of inventions, is
useful to innumerable people who are wholly ignorant of it; thus the study of physical science is to be
recommended, not only, or primarily, because of the effect on the student, but rather because of the
effect on mankind in general. Thus utility does not belong to philosophy. If the study of philosophy has
any value at all for others than students of philosophy, it must be only indirectly, through its effects
upon the lives of those who study it.

If poverty and disease had been reduced to their lowest possible point, there would still remain much
to be done to produce a valuable society; and even in the existing world the goods of the mind are at
least as important as the goods of the body. It is exclusively among the goods of the mind that the value
of philosophy is to be found; and only those who are not indifferent to these goods can be persuaded
that the study of philosophy is not waste of time.

Philosophy, like all other studies, aims primarily at knowledge. The knowledge it aims at is the kind of
knowledge which gives unity and system to the body of the sciences, and the kind which results from
a critical examination of the grounds of our convictions, prejudices, and beliefs. But it cannot be
maintained that philosophy has had any very great measure of success in its attempt to provide definite
answers to its questions. If you ask a mathematician, a mineralogist, a historian, or any other man of
learning, what definite body of truths has been ascertained by his science, his answer will last as long
as you are willing to listen. But if you put the same question to a philosopher, he will, if he is candid,
have to confess that his study has not achieved positive results such as have been achieved by other
sciences. It is true that this is partly accounted for by the fact that, as soon as definite knowledge
concerning any subject becomes possible, this subject ceases to be called philosophy, and becomes a
separate science.

a. Summarize the following passage in your own words. 10
b. Do you agree that philosophy does not have any value as do the physical sciences have? 5
c. How is philosophy different from other sciences in respect of knowledge? 5
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Write an essay on any one of the following topics: 15

ao o

The world as I would like to see
Socializing during the Pandemic
Positive Mental Health
Learning from Failure

Give arguments for OR _against any one of the following contentions: 10

oo o p

We want to be immoral

Open book examinations should replace the present system of examination
One should be selfish to be happy

Reading books is redundant in the age of Internet

Choose the right answer: 1x5=5

il A

3, 4, 7, 8, 11, 12, ...Find the next number,
7
10
14
15

FAG, GAF, HAI, IAH, ___

1.

2
3.
4

JAK
HAL
HAK
JAI

Tripitakas are sacred books of

1.

2.
3.
4

Buddhists

Hindus

Jainas

None of the above

The only daughter of the mother-in-law of my mother is my

1.

2,
© 3.
4

Paternal aunt
Sister
Daughter
Grandmother
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e) What kind of right is ‘freedom of speech’?
Economic Right

Social Right

Fundamental Right

None of the Above
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